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First Semester B.Com. Degree Examination,
November/December 2019

(CBCS — Semester Scheme)
M.T.B.D

Paper 1.6 — METHODS AND TECHNIQUES FOR BUSINESS
DECISIONS

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answer should be written completely either in English or

in Kannada.
SECTION - A/ 2w - &

1. Answer any FIVE sub-questions. Each sub-question carries 2 marks :
03NF) W3R DT F-IBNIrt evgd. =8 I 2 V0B [3, : (5 x2=10)

(a)  Give the standard form of Quadratic equation.

W30POFW BACTT 0T m&doﬁdd& QeR.

(b)  Give the meaning of progression.

B3od ©FFIY, Aed,

(c) What is banker’s discount?

wazsosofo 28 dordem?

(d) Find the 10t term of sequence 10, 12, 14.

10, 12, 14....0 3359®2030 Zeedod> 10e 3(3:3@(60130&&0&)&

(¢) What are irrational number?

eawaﬁowgz,’oa%mb Q0BBERO?
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()  Write the duplicate ratio of 3 : 4.
3 : 40 oUBEC 8T 303 ¥RITIIE), WE0D.

(g0 What is Diagonal Matrix? .
gese o Bee3 (B obnse’ Bntis’) Hondesy?

SECTION - B/ &t - @

Answer any THREE questions. Each question carries 6 marks :
03F)TBTL DD FBNYN 32 B8 IZre 6 wosTied ! (3 x 6 =18)

The age of the father is 4 times that of his son. 5 years ago the father was
7 times as old as his son. Find their present age.

Sotsad FohRo Foris FadaNos Teew, Bk, 5 IRETIHA, Jofad Sobr) Fors BadNos 7 Bk,
20} BINT ©I0 FobRR, BoRLROND,

If 3¢ and 7t terms of an AP are 15 and 39 respectively, find AP.

2,080 3R0P03C Beedod 3 e 7de o rieh FIowN 15 I 39 4TS IZPW03T
8,¢ed000m), 5o &B0D.

Find the TD, BD and BG on ¥ 1,200 due 4 years hence at 5% p.a.

Oe. 12008 moe, SIFRY BooRab Boeed T&FS 5% wRS B FYINSHNYR), 8E> &RBAD.
@ TD (i) BD (i) BG

|
Find the inverse of the matrix A = E 2} :

A

E = ﬂ O DeRER) BREBTEY, For LBD.

Calculate the amount of an annuity of ¥ 10,000 for 15 years @ 12% p.a.

BISRFT A0, 10.00000.0¢Ry 15 Fmeriv mode de 120 wBObR) IREEABY
RoalpeSAES 23 BFFRS HAIBRY, ForLRAD.
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SECTION - C/ agort - &

Answer any THREE questions. Each question carries 14 marks :
QdR)ETBTR Boedd IBNYN evgdd. I3 BF[ 14 wosneh (3 x 14 = 42)

(a)

(a)

(b)

A man saved T 16,500 in 10 years in each year after the 1st he saved ¥ 100
more than he did in the previous year. How much did he saved in the
1st year?

wy FBody B IINYY, 16,500050. MdR) evdzeod [nwosed. Jse IAE
1000.7¥®), &LobE SHF303 Bl euPATTE VST SHTO I GV OR)?
Solve for x, (5x +1)(x + 3)=3(x-1).

X B, BB: (5x +1)(x +3) = 3(x - 1)

The sum of 3 terms in an A.P is 15 and their product is 80. Find the terms.

3350m2030 g erdodd St ST B3 15 Fo3) r’bm@m@d) 80 &r3d, & IAENYR), Foro
&RODY.

AR Giin
If A=|2 1 2|, showthat A2-4A-5I=0.
2 R ol |

R S
A=|2 1 2| @88 A% —4A -5 = 0 o013 30002,
Qe

Find the sum of all integer’s between 100 and 400 which are divisible by
7 (seven).

%ozl 100 03y 40080¢NS, Kol 7008 HPRROBIT Fpmerosnd SeII®y vord
&oBOWD.

Solve by Crammer’s Rule.
59,300° AODLBPTOFIT DB :

10x + 5y = 126
9x + 12y =150
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(a)

(b)
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A man spends 30% of his income for rent, 50% of the remainder for other
expenses. If he saves T 2,000 per month. Find his monthly income.

22) 3% 33 B30 wwoabSTy, wWernn S0 3¢50 ewIn o0 T) BIT DeENH
ﬁzsu;mamﬁ ST BUYI00) 20w doridrt 2000 Twe. 8BT ¥IT oMY FTIPTVSA)?

A bill was drawn on April 1st 2019 for ¥ 15,000 due in 6 months and
discounted on July 23 2019 @ 6% p.a. find :

(ij Bankers Discount

(ii) True Discount

(il Discounted value of bill

(iv) Banker’s gain

150000n.r¢  ®ooBabdy, 6 dondrt I8¢ o2& 20 198 wOWY, AAFT
Be 68 wB BOBY, 23F¢ e} 201900, BodPow3 SRBET, B TINTI)NYEY, ToBO ~
&&EOWD :

i) BD

o R 1

(i) DodPoDERPOBITOZ BooBAL B3 (Discounted value of bill)

(iv) BG

Solve : 4x? =11x + 3 by formula method.

R03 I DB : 4x” =11x +3

Find the difference between simple and compound interest on I 3,000 in

3 years at 4% p.a.

30000x%. 3, 3 SRET, Be 4%TR), TIXET wRoIPTTE F0Y W FoF) WIWED FIYRB
SB0ZTVY, WO LBOALD.
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